LB 1RARFRIRAR

TH1 RIE &M BERES

EsEm XL H4E/HIE, NOVOSTRICTIVE MUEH A
THHER, “xi{EHE, T/ESERIE 4250 mm

B EEN

s

ol RS IR v I B A

o JEEb R F L B, NOVOSTRICTIVE® il & Hi AR
LI (22 L S A U5

o TCHLAR B, TCRR B

o FrufErL I E S B R E S

o TipmfEv] N LiXE

o ZPEfLSE, Heminlih 50 pm

o T TAEREFEAR/DN, ¥R E % 0.001 mm
o JRJERBAE, <30 ppm/K

o HubiisdR SRR

o ] M LA I Sk

o PiitnZ:4 IP67 / 1P68

o TAEMEJy IR s ik 350 bar

o HLARIS I 225 = S g F B AL i 1 P 4R

TEL:400-900-8812

i NOVOSTRICTIVE® 4
% foh X% S50 2 T e AR P
AR AT R, AR = &
&5 A B R AT
GO0, st Hu R,

I &2 5o P2 3 1o 1 I F% 8 O
TUREIR LI, O BRI 2 7
AR, JEEmMI T %
LEINEAE, JOBHIREER
6 TC IR LA 55 i i B 1) T
FREIASR R, TSRS
ik 4250 mm,

HI T SR SE 2E Y I R
B 58 3R M BT RO 28 Y JER
B, AL R TR B R RO
R I R B R AL, 5
WA S5 & 2% 08 LR 5
JEEWE RS R AR b
i FHLR ST RE .

e R R B FL VAR
A R RAE A R ) R L AN
SURGELHN . FEE R O B
AR AR A O A

novotechnik

Siedle Group

e & & I ASIC £
NGRS T AE PO R R R
5.

B B2 A3 Ao e PO A5 400, 5 P
LA S A, PRSI
[l 4 847 8: 1 (24, 25 5 26
AL ) PL K SR 3 / 158 1k Jhk o oix g
WREBO, LA REES
W R DhRE R = MR A A R AT
“DyMoS®” M,

HoAl# N 2 ISR B AR
Bkt

|

s 5% BAIRRARALER, DB AEEHN

%R Py 1806149 Frifi iIRLX M18x1.5

T B kE O WREHR

WA NOVOSTRICTIVE® 43z fish 2 Bl 4 ) it J Bt
AR 8 % M12 x 1 K bRl I

8 £+ IEC130-9 [l % b b S
6 §F IEC130-9 2 I b Sk
8 it 8x0.25mm2 PUR/PVC Bl g, &1k, 3% 5%

g il ASIC (1 5 L SMD
155 5 U DR 2 1 He B 1 iR 2R 5P 5

LA B B A

48T : 18017400327

www.jjx88.com

luck@jjx88.com



SW 46

LB lRARFRIRAR

novotechnik

Siedle Group

B RO NG EREELES
2R354, SePl Teach-In ZhfE (T
TEEfRiEE) .

-
T r- Z-TH1-P18
-

1 L _|:

ol w M18x1,5

3

2 I I
T = | —
e ¥ %’
il
= =
M16x0.75
WHESEEAR
Mk BB ARk gD EIEED
%#=101,102 S 201, 203, 205 EEM 33-86, EEM 33-87 B B
EH 1 Ao BRG] 0(4)...20mA %
£ 2 VSE] Fi a5 55
£ 3 IRC) E3c) % +10...0 (-10) VDC
£ 4 RG] it DIAG* DIAG*
£ 5 e TR A % 0(-10) ... +10 VDC
£ 6 [ L Ee) HL 5 HL
7 Fi Wit +24 VDC +24 VDC
i 8 [EfC) [aRc) PROG* PROG *
Wik gD HIEED ) )
HE 103 BE B *) 5 R Teach-In SfEME T (& WARTETI ).
£ 0..10VDC 0(4)..20mA
£+ 2 {5 H 55
3 10...0VDC 7
£ 4 HL L
E 5 +24 VDC +24VDC
6 LERS: 1) LERTS 1)
2

TEL:400-900-8812

48T : 18017400327

www.jjx88.com

luck@jjx88.com



LB 1RARFRIRAR

novotechnik

Siedle Group

BSEX TH1-_ - -4 _-__ TH1-___ - _-42_-___

BB EESHEH EIERRESHE
WS L
RAp LI
b TAR ARG (RSF L) KB 0050 % 1000 mm, 4% 25 mm #:H#4; K& 1100 Z 2000 mm, 4§ 100 mm #34; K& 2250 % 4250 mm, 4§ 250 mm #h3;
T 4R 5 S AR AR R e
BSSH
Tfesf ORSF L) 0050 % 4250 mm
o % 2 < % 0.02 (F/h £ 50 um) = % FS
WATRALE + 0.5 (/b2 x wEEH) mm
WilES R LN

0.1...10VDC ( fi#k > 5 kQ) 0.1...20 mA ( 13k < 500 Q)

4 ... 20 mA ( f1 3% < 500 Q)

Vig =3 16 fir
I A <0.03 % FS
il <0.01 % FS
TAEHLE 24 (19 ... 30) \
TAER R ) <10 % Vss
WL FE <100 mA
S KA LR % 16 kHz
LI R EL <30 (/) 0.01 mm/K) ppm/K
PR 40 (PR / 1 min.) \Y
MePEdR, R R PR up t0 Urnax v
{5 54 O 4n Up t0 Unax vV
2 HL (500 VDC) >10 MQ
TMESH
AR e -40 ... 485 °C
fits T L -40 ... +100 °C
AR G 0..95 (Joit#E) %R.H.
HidRsh ki (IEC 60068-2-6) 20 (5 ... 2000 Hz, Arax = 0.75 mm) g
Bishidibrde (IEC 60068-2-27) 100 (11 ms) g
B A TERR kS
MTTF (ISO 13849-1, Ef#fGoL FkE) 28
Difiede aE gk IHEA E] G F R RGih, WEBRRA
Bir%4% (DIN EN 60529) P67 afifr BBk ;

IP68 EL i HL 4k
ERRZFAMRE NI S
JE e A
I TAEE ) <350 bar
JE W AE < 600 bar
WRET > 700 bar
i 1A U S I B B KA IR 10 ms’
i 1 A 28U 5 T B dpe KA iR ek 200 ms?
i /& EMC rife EN 61000-4-2 electrostatic discharges (ESD) 4 kV, 8 kV

EN 61000-4-3 electromagnetic fields: 10 V/m

EN 61000-4-4 electrical fast transients (Burst) 1 kV

EN 61000-4-6 conducted disturbances, induced by RF fields 10 V/m eff.

EN 61000-4-8 Power frequency magnetic fields 3 A/m

EN 55011/EN 55022/a1 Radiated disturbances class B

*) B AT, PIERRET RN T R,
*) &M channel 1; channel 2 4axf 2k itk iR 3k s, WHAREYLAEH Z-TH1-P18 / Z-TH1-P19,
3
TEL:400-900-8812 4BT : 18017400327 www.jjx88.com luck@jjx88.com



LB 1RARFRIRAR

novotechnik

Siedle Group
8
1 g43
g y 50
= - ol < O 27
i § EEC G 2 = 0
A ) m ®
T
13 - U
2t EEM 33-84 EEM 33-85 EEM 33-86 EEM 33-87
Z-TH1-P18 Z-TH1-P19
VEEG (BBIMTHE—)
N ; o O BRI Z-TH1-P18
I
'LTM;L*%IHHH FE g S . 005697
o O MR Z-TH1-P19
ST A G, T A R B N EE msEn FEimgnS . 005698
JEH IS BTN EE 4 BeplibEn
3 H 3
BRERHESED L ] 452 B R L AR T
1. HERI
2. WL G
e 1 o 8%l IEC 130-9 Bk
Spival - . EEM 33-84
1: 0VDC ... 10 VDC HI 10 VDC ... 0 VDC 7
e 6% IEC 130-9 B #k
BRSO 42 M. EEM 33-82
oAz * 8% IEC 130-9 &k
: mA ... m [=}
5 amA . 20mA 5. EEM33-85
4: 20mA ... 4mA e 6% IEC 130-9 &$:k
5. EEM 33-94
S~ 8 x 0.256mm2 PUR b iz H. 4%,
iE e R
101: 8 & IEC130-9 I3 8 B M12x1 MEHk,
102: 8% M 12x1 Bk o 2 KHi4E, WHIS5. EEM 33-86
103: 6 %t IEC130-9 [l ## % o S5KHAE, WME. EEM 33-90
201: NT badEHLgE 1 K N 1 = _
203: NT hifHisi 3 % * 10RWEL, WG EEM33-92
205: NT FrifiHisy 5k
8 x 0.25mm? PUR Jitili .45 ,
8 A M12x1 s gk,
T H1 - 0 8 0 0 -1 0 2 - 411 - 1 0 2 o 2 KHi4i, HIS5. EEM 33-87
o 5okMidi, #Y. EEM 33-91
%71 iz e 10kHidi, #5. EEM 33-93
102: BEL0H2E M 18x1.5, e S AE 30 mm 4k
104: WRZUEE M 18x1.5, T2 AAE 51 mm &b o ZzEEUTE M18x1.5-A2
106 7] 102, (A0 HE RCHE Max6 M2 FLIE SEIHEE K 7.5 mm A ‘Z TH1-MO1
108: [ 104, {ELIFE s MAx6 MERFLIESBANFEE K 7.5 mm T -
THERREEE RIBE KA E il 7= &
R 50 & 4250 mm ° ﬁT‘zﬁEEéKL 10 }K
o My, WE. MBELEN
o HABALIE LA
hn. WRAEILE 3/4"-16UNF
(2 W5 o e AR BRI )
BEERTR
S AT DR AR A ZE B R A O R bt il AE S s,
© 02/2014
mAEW,
A FBATEA,
4
TEL:400-900-8812 4BT : 18017400327 www.jjx88.com luck@jjx88.com



